58591 ** DRAWING PRINT SCALE CHECK - THIS LINE SHOULD MEASURE 10 3/8" LONG **

INSTALLING MG-100/200/300
1) OPEN HOOD AND REMOVE FACTORY TOW PINS FROM TRUCK

2) INSERT MOUNT BRACKETS INTO THE TOW SOCKETS (TOW
PLATES SHOULD BE ON THE INSIDE OF THE BUMPER)

3) SLIDE FACTORY TOW PINS OR EQUIVALENT BOLT THROUGH
THE TRUCK FRAME AND MOUNT BRACKETS.

4) TIGHTEN THE 5/8" NF STOVER NUT TO 128 FT-LBS TO SECURE
THE BRACKETS IN PLACE

5) ATTACH THE MG-100 TO THE MOUNT BRACKETS
USING THE TOP TWO ROWS OF SLOTS.
SHIMS SHOULD BE PLACED BETWEEN THE GUARD AND
THE MOUNT BRACKETS.
HARDWARE: 5/8" NC X 1 3/4" BOLT, 5/8" WASHER
& 5/8" STOVER NUT
TIGHTEN TO 159 FT-LBS
(6 PLACES)

6) THE GUARD IS NOW INSTALLED. THE HOOD CAN
NOW BE CLOSED. REFER TO DRAWING #54268 FOR INSTALLING
THE MG-200T/300T IF REQUIRED.

BK-008 MOUNT
BRACKET

5/8" NF STOVER NUT

5/8" STOVER NUT
5/8" X 1 3/4"HEX BOLT

BK-008 MOUNT
BRACKET
5/8" WASHER
SHIM
MAGNUM TRAILER FRACTIONS CHART UNLESS OTHERWISE SPECIFIED [ S/EET VAVE e
DIMENSIONS ARE IN INCHES Sheetl MG SERIES BUMPER ON 2021 KENWORTH T-680
& 1/32 03125 | 9/32 28125 | 17/32 53125 | 25/32 78125 A NCES AR CURRENT CUSTONER STOGK NUVBER VENDOR NUVBER WeiGHT b
cuPMENTING. | Vi S5 | 1L B | I S| B ) e e s
1/8 .125 3/8 .375 5/8 .625 7/8 .875 DRAWN BY DRAWN DATE CHECKED BY CHECKED DATE REV.

XX XXX
5/32 15625 | 13/32 40625 | 21/32 65625 | 29/32 90625 0.03" X . WO# |
Y3 Dats | 1632 leass | 2373 Ters | 1k sests S —, e S R
174 25 1727 s 374" 75 DIMENSIONS TO SHARP POINTS 1:12 MD AA-58591 1




	Sheet1
	Drawing View1
	Drawing View2


